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CLAT REASONING QUIZ 45 

Directions: Read the following questions carefully and choose the right 

answer. 

(1). Directions: In this question given below consists of four 

words/letters. Three out of the four are similar due to a 

common characteristic. Find the odd one amongst the 

choices. 

A. Bay  B. Lake C. Ocean D. Sea 

(2). Directions: Find the missing term in each of the following 

series. 

ZYX, BAZ, DCB, FED, ? 

A. GHF B. FGH C. FFG  D. HGF 

(3). Directions: In this question select the related letter / word 

/ number from the given alternatives. 

Gulp : Drink : : Rush : ? 

A. Hop B. Go  C. Run D. Jump 

(4). If TRAIN is coded as RPYGL, then the code for SCOOTER 

would be 

A. QAMMRCP  B. QBNNRCP 

C. QAMMSBP  D. QBNNSBP 



 

 

(5). Ashish said to Himani, “ Son of your father’s only son is my 

wife’s brother”. How is Himani related to wife of Ashish? 

A. Sister B. Aunt C. Mother D. Cannot be explained 

(6). A walks 2 km southward then takes a right turn and walks 

5 km then turns left and walks 3 km then turns left and 

walks 5 km. In which direction is he now from the starting 

point? 

A. East B. South C. North D. West 

(7). At 3 : 40, the hour-hand and the minute-hand of a clock 

form an angle of: 

A. 120° B. 125° C. 130° D. 140° 

(8). In a row there were 45 students. If Manish is 17th to the 

right of Ravi, who is 10th from left end. Then what will be 

the position of Renu from right, who is sitting 8 positions to 

the left of Manish? 

A. 26th B. 28th C. 19th D. 27th 

(9). In an exhibition seven cars of different companies – 

Cadillac, Ambassador, Fiat, Maruti, Mercedes, Bedford and 

Fargo – are standing in a row facing to East in the following 

order: 

• Cadillac is next to right of Fargo. 

• Fargo is fourth to the right of Fiat. 

• Maruti car is between Ambassador and Bedford. 

• Fiat which is third to the left of Ambassador, is at one 

end. 



 

 

Which of the cars are on both the sides of Cadillac car? 

A. Ambassador and Maruti B. Maruti and Fiat 

C. Fargo and Mercedes  D. Ambassador and Fargo 

(10). In this question given below three statements are followed 

by three conclusions numbered I, II and III. You have to 

take the given statements to be true even if they seem to 

be at variance with the commonly known facts. Read all 

the conclusions and then decide which of the given 

conclusion definitely do (es) not logically follow from the 

given statements, disregarding commonly known facts. 

Statements:  

All books are novels. 

Some magazines are novels 

No magazine is a copy. 

Conclusions: 

I. Some books are novels. 

II. Some copies are not magazines 

III. All copies being magazines is a possibility. 

A. If only conclusion I does not follow. 

B. If only conclusion II does not follow. 

C. If only conclusion III does not follow. 

D. If both conclusion I and III do not follow. 

  



 

 

Correct answers: 

1 2 3 4 5 6 7 8 9 10 

B D B D B B C D C C 

 

Explanations: 

 

1. 

 

Lake is a water body surrounded by land, whereas Bay. Sea and Ocean are 

water bodies surrounding land. 

  

Hence, option B is correct. 

 

2. 

 

Hence, option D is correct. 

 

3. 

 

Gulp means to swallours food Quickly 

Drink - to take liquid into mouth 

Rush - to go or come with great speed 

Go - Walk or move. 

Hence, option B is correct. 

 

4. 

 

Each letter is coded as second preceding letter. 



 

 

 
  

Hence, option D is correct. 

 

5. 

 

As per the given information, we can infer 

 

 
 

Son of your father’s only son is my wife’s brother it means Ashish’s wife 

bother is son of Himani’s brother or you can say Himani is aunt of Ashish’s 

wife as you can see above in the figure. 

 

Hence, option B is correct. 

 

6. 

 

A is in the south from the starting point. 

 

Hence, option B is correct. 



 

 

7. 

 

The angel between the two hands of a clock at 3:40 is θ. 
  

θ =  
11 

 m – 30 h 
2 

 
Here, h = 3 and m = 40 
 

⇒ θ = 
11 

 × 40 – 30 × 3 
2 

  

⇒ θ = 130° 

  

Hence, option C is correct. 

 

8. 

 

Manish's position from left end = 10 + 17 = 27th  

Renu's position from left end = 27 – 8 = 19th 

Hence, Renu's position from right end = 45 – 19 + 1 = 27th 

Hence, option D is correct. 

 

9. 

 

→ Fiat 

→ Bedford 

→ Maruti 

→ Ambassador 

→ Fargo 

→ Cadillac 

→ Mercedes 

 



 

 

Fargo and Mercedes are on both the sides of Cadillac car. 

 

Hence, option C is correct. 

 

10. 

 

All books are novels (A) → implication. 

 

Some books are novels (I). 

 

Hence conclusion I follows. 

 

Again, No magazine is a copy (E) → conversion → No copy is a magazine (E). 

 

Hence, conclusion II follows. 

 

But conclusion III does not follow. 

 

Hence, option C is correct. 
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